I= S FiE

L—X FLA& O—2X | & B | 844
ma©:45) Ak EHL RS 1 5 2 5:24
a |BSEERER06 2 @ i 3:52
L—X FLA a=2 | A B | 844
N8(10:45 A A W JL Kk LT 4 —R 1 & 2 5:27
b |BE/ 5 2Girls 2 & 1 4:27
L—X F—Lf J—2 it R 24 L
izt 4| A1) —> T X 2 & 2 6:21
c [BiEEVAE—X 1 * 1 4:55
=% F—L% SI—X | e B | 844
No14(12:15) | TJ 1] L
d |BEACHIKSZF i * 1 7:16
L—X F—LE 31— JEEE) (v B4 L
M16(12:48) | P AN A Y A A K 1 & 1 5:16
e =< >2B2024 2 = 2 6:48
$= @i’%‘@é‘
L—=2 F—LE fae HEfr AL
wmis(i4:15) | Fa2) bk EH THRE 2 #® 2 7:22
2 ><
Fb2) a4 v kLTF4—R| 1 & 1 6:12
L—2 F—L4% aI—2R e JE G Z4 L
M23(15:30) | Ffg2) T —r X 2 % 2 5:41
b
Fe2) 2 <CoH 2024 1 #® L 5:31




L—2 F— L% a—2 | W B | AL
No9(11:00) | Fral) EEREEREROG 1 = 2 4:01
a |Fbl) &/ 45 Girls 4 e 3 4:09
Fcl) BEEVR2—X 3 % 1 3:57

BEh) - <o B 2024 2 = 4 4:11

L—X F—LZ& a—X | & Bz | 544
N11(11:30) | d1) BEACHIKS % +F 4 =i 2 4:26
b |Fel) FRAYAL b 3 o 1 4:02
BiEal) O/ VL kLT 1 —R 2 & 4 4:59

gegb2) FYy—rx 7o i & 3 4:51

L—X F—L& a—2 | me B | 84 AL
No15(13:00) | 3kal) FRIFE AR —X 2 & 1 4:42
HHRD) FARAYAAL B 3 # 2 4:43. 47
#3ra2) R EREEROG 1 & 3 4:43.57

#33b2) BEACHIKS ZcF 4 & 4 5:59




